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Set |d : 62450 44 BATCH3 D.EI.Ed. Odia_12NOV2020

Section 1 - Paperl-English Lanquage

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

In spite of the shock that Snowball's expulsion had given them, the animals were dismayed by this
announcement. Several of them would have protested if they could have found the right
arguments. Even Boxer was vaguely troubled. He set his ears back, shook his forelock several
times, and tried hard to marshal his thoughts; but in the end he could not think of anything to say.
Some of the pigs themselves, however, were more articulate. Four young porkers in the front row
uttered shrill squeals of disapproval, and all four of them sprang to their feet and began speaking at
once. But suddenly the dogs sitting round Napoleon let out deep, menacing growls, and the pigs
fell silent and sat down again.

1) Who let out growls?

A) Snowball.
B) Boxer.
C) Pigs.

D) Dogs.

2) By which announcement were the animals dismayed?

A) Expulsion of Snowball.
B) Protest of the animals.
C) Making of a new farm.
D) Growls of the animals.

3) Which animals were more articulate?

A) Boxer.

B) Pigs.

C) Snowball.
D) Dogs.
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4) Why couldn't the animals protest?

A) They were tired.

B) They were tied up.

C) They did not find the right arguments.
D) They couldn't talk.

5) Who uttered squeals of disapproval?

A) Yorkers.

B) All animals.
C) Dogs.

D) Pigs.

6) Fill in the blank with the correct option:

He for the welfare of the society and not just himself ,so the people him
for his broad outlook.

A) prays, praise
B) preys, prays
C) praise, prays
D) praise, preys

7) A task done for the love of a person or for the work itself is called as

A) love of labour
B) labour to love
C) love for duty

D) labour of love

8) Fill in the blank with correct prefix or suffix:

No one thought that the upcoming author could cend Shakespeare.

A) pre
B) pro
C) trans
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D) up

9) Which of the following words is correctly spelt?

A) calaus
B) callas
C) callous
D) callus

10) Which of the follwing person's name is also called as the man of the cloth?

A) a steward
B) a peon

C) a clergyman
D) a carpenter



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following materials contracts when heated or warmed?

A) Graphite
B) Wood
C) Iron

D) Rubber

11) eag @al aga cesq ﬁﬂﬁ%j@ QARG G 6T ASTIEE 6NN ?

A) @l
B) @0

C) @@
D) @e&

12) Other than India, in which of the following countries residuary powers go to the union
government?

A) UK
B) Canada

C) USA
D) France

12) @lee Quete FRde 69998 aIQ 694 219dd 93 69 AaRIag QUG ?

A) 259
B) @IeI@l
C) asade!

D) @]

13) Members of the University Grants Commission include -

A) Chairman and Vice-chairman
B) President and Vice-president

Join Us-
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C) Education Minister and Vice-president
D) Prime Minister and Vice-president

13) F99QHIR0 2RI TR AQAAINT FRIER MFIER ASYD -

A) Y I Q-AUY

B) QI806 1& @a-Q19a8
C) 881981 949 Ra-QIgas
D) QuIFAE1 ¥ 99-QIAS

14) Which one of these statements about the Kasturirangan Committee is false?

A) Universalization of pre-primary education

B) Pedagogical Structure with 5+3+3+4 design
C) Physical restructuring of schools

D) Provide foundational literacy/numeracy for all

14) 1% FRAGYES AIQ FLNIRTR A Gea6R 690E Fall Zi6s ?

A) g< giaifi@ daie ALKARAE

B) s+n+n+¥ @RIRGa 653K gaist

C) Squiraggaa 86d gas g0

D) aage ae 66109 QINQQI/ Aw6qRie RIF Q1@

15) According to NCF 2005's position paper in Curricular Areas, at secondary stage Science,
students should be

A) introduced to science as separate disciplines with emphasis on technology and problem
solving

B) engaged in learning science as a composite discipline, in working with hands and tools

C) engaged in learning principles of science through familiar experiences, working with hands to
design simple technological units

D) engaged in joyfully exploring the world around and harmonising with it

15) aiovaa seesa NCF 9008a caidas 60aa 2gaia, Ande adya6 R19q, 2iea@a® diR
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A)
B)
C)
D)

6GEQIEAIR IS AAAIQ ATNRIE AAER YRQ 6aR FFIRG 1@ Q2R QLR Aesa aG56 aaIaml

210 I QURQd A9 QI @89l JIR §819g IR (50 UQPIAR ANEA TR ST

P18 AQRO| QIJUFIEQ AQR 6TVDR YT CRIRNR FAIER, 210 ATQ RIFER FRFA GV P16 FEARE AU
2IRR6R QGG QRAUG UCYVE QAR 9 Y2l ATC QARG PR AT
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) How many letters are there between 20th alphabet from the right and 4th alphabet from the right,
when letters are arranged as per the alphabetical order?

A) 10
B) 12
C)13
D) 15

16) easosan ma%l@@ Q€AIR| Q60 AFIAN, SITIEQ 900F 94 I I2IEQ 9 @4 aYea 6@60I5 280 Q@9 2

A) eo
B) ey
C)em
D) es

17) In a certain code language, if the word AMOUNT is coded as MAUOTN, then how will the word
CLOSED be coded in that language?

A) CSELOD
B) LSCOED
C) CLODSE
D) LCSODE

17) 4@ @64 saig aisise, 9@ AMOUNT ae MAUOTN aiesq 6716, 62ia8, 6662 CLOSED ¢aG q 6@ aisisa 308 6716,
QA Q2

A) CSELOD
B) LSCOED
C) CLODSE
D) LCSODE

18) In the following questions, mark:
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1, if statement | alone is sufficient to answer the problem.
2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

There are five boxes P,Q,R,S and T. Which of the boxes is the heaviest?
I. The sum of the weights of P and Q is the same as the sum of the weights of the other three.

Il. Q is heavier than only S. T is heavier than both P and R.

A) 1
B) 2
C)3
D) 4

18) FINYC ggedasa 686 qeg :
¢. 26 QA8 | anaia QAR saeig asaa 26T |

9. 98 QG Il ¥gda anyia QAR caelg e SET |
qn. 28 QA4 | ver |l aeag 910 F2I89 6669 AR AR a9l Alel AT 26 |

¥. a8 Qo8 | <o Il eeeg <90 fude 6ese @ qoaue Q@A seel ae  adug  qed |

P, Q, R, S we T ared qig 28 | 18ag 694 9198 2901q 28e 6a52 266 ?
l. P ger Q asaca and asy §60/8 6a90 6QI60R 926 ACIS 26T |

Il. Q saee S oig 29 aiet | aew P e R oig T 28e B8&2 266 |

A) ¢
B) ?
c)?
D) ¥
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19) One morning, Nitesh left home and cycled 10 km south. Then he turned right and cycled 5 km

and then again turned right and cycled 10 km. Finally he turned left and cycled 10 km. What is the
shortest distance between his final point and his home?

A) 10 Km
B) 15 Km
C) 20 Km
D) 25 Km

19) Ger alsR, FEGE aQ A28 e o FeRIATR PTGER ARCHR FRINGA | SITEA 62 FITEF 2R 8 FERITTR ANCHR ERIRCR 1

g4 9IRI5Ig 9f Co HEAIFCR ARERR FRIRER | 6496 64 QA M o FEAIFTR ARERR FRIRER | FIea 280 87 IQ° cix W
F16R a0 @7 Qe 660 ?

A) ¢o @d.
B) ¢g Q4.
C) 90 @4.

D) 98 @4.

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4. if statements | and Il taken together are NOT sufficient to answer the problem.

How long will John take to cover the distance?
I. John covers half the distance at 50 km/hr and remaining half at 40 km/hr.

Il. The total distance to be covered is 100 kilometers.

A) 1
B) 2
c)3
D) 4
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0. 9% QR | anQia RAQA caqlg Acaa 26T |
Qs QR4 || vgdal anaia QAR caig F6aa 26T |
q. 96 @G | e |l aeag 9eI0 S21Fe 6069 ANV AR 699! IR ATI 26T |

¥. 96 Q4 | & Il aeng ¥aI0 F218e 6669 @ AR QAR 6991 Alel 94 6F |

QO0! USRC RARIQ IR, 6REC AN 6R76Q ?

l. 96 2 9ae1g 8o @Fl. JG QG 9e 2eda 2 so @Fl. JG A9 cq 28q0 KT |

1. ageia @ael e oo Gsqificn 26qd RAQIY 6LQ |

A) ¢
B) ¢
C)a
D) s
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Which of the following is the highest and the oldest advisory board for the government in the field
of education?

A) UGC

B) CABE

C) NCERT

D) NAAC

21) S9Rge FRIQ 6296 6208 3l 6306R QRIS TIe! AP Y= JAUSR AAUAIIG| ?
A) 254

B) @@a

C) edeled

D) ¥aad

22) Which of the following may be the most important reason to say that Teaching is a Science?

A) Itincorporates methods and languages

B) It involves skill to dissimilate language, maintain interest of the learner
C) Iltincorporates systematic method and approach of experimentation and trial
D)

It involves emotional aspects of learner like empathy and efficacy

22) d191e 99 FRIS 691R 22910 FYANUS FIQ 6296 A90IQ 9R3Y4E FIRG ELIRIER ?
A) <@ URG e VUIPE] 2BUS AR

B) &usl &8¢ 289!, aidiea 2ige eFI0 YR Akl 126 980! 23ES

C) 4ede 9ad Yer daiad IS JaISEIa AIFgHIG ISuS 69
D) ase dnigiae A2I9YE Y9 ANIRIRG! 08 AILYLEIS! ASYD

23) The Ministry of Education for Indian Government established the NCERT in

A) 1960
B) 1961

Join Us-
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C) 1962
D) 1963

23) @ 9drIea AQG AAReT LINER 49 Agea Yedezes goal aagm

A) e¢o0
B) e¢9e
C) et99
D) ecsm

24) Which of the following was a recommendation of National Policy on Education 19867
A) 3 languages formula
B) RTE

C) Establishment of DIETs
D) 10+2+3 system

24) G9Rge AIQ 69496 RIS FR AT, € ¢ R YARE gml ?

A) N ai8l 99

B) 2SR

C) fueda gosl

D) o + 9 + M@aq

25) Who recommended for the establishment of SBTE?

A) Mudaliar Commission

B) University Grants Commission
C) Service Commission

D) The Kothari Commission

25) 12dda o goal aie &9 gaIte a&8em ?

A) 9eR2IQ @dae

B) @419 QIR 26
C) 629! 262N

D) 691016 @¢ag
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26) Summarising, Outlining and Using Concept Maps are strategies of

A) testing to become better test takers

B) rote learning to repeat something long enough to remember the concepts
C) behaviourism to succeed by the trial and error method

D) note taking which will help students to understand concepts for retention

26) alerd adql, g 9899% QFQl 8 PR FIRGLYEa MR KE9I 6908 Qaad |

A) e@a aaisigl c291g asisl

B) uicaigée ase agel o asaie aag qml'a;@ @RI SgQ!
C) 918l 9&" gF 988 Qial ATR 629 AR ASRETY

D) gicica 6n@adsl aiel sigrieg diad ais diesl 98cisa Aol a8e

27) The teacher gets the students to memorise the multiplication tables by rote learning which they
are able to recall even after the long time. This is the case of

A) short term memory

B) temporary memory

C) long term memory

D) immediate memory

27) Jge 219019g 97 AWIYFY I¢ 209! AR «L28 | QIRIF 6aAIER 14 ATG A6R T YRS KALIea AVA 2AIRIS | N9 6208
[

A) Q8 faq g8
B) 2 9o
C) ¥deigie g6
D) @02 g6

28) Learning through the process of observation, scaffolding, and later independent practice is
known as :

A) Programmed Instruction
B) Machine Learning
C) Cognitive Apprenticeship
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D) Discovery Learning

28) adieead, gaInges 1o J6Q AURNES AR ARINER TS AUER FENGSI |

A) sg1gia FARIRES| FeasIeR
B) 694 &

C) *9%@ 2lsgrdda

D) 29|Iq dal

29) Read the following statements and choose the CORRECT option.
() The Education Commission was appointed by the Government of India on July 14th, 1974.

(iThe unique feature of the Commission was its conviction that education is the most powerful
instrument of the national development.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE

C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ii) is FALSE

29) Q612 QRQEIGLR U9g Ie° O] 999 Q18]
() 1974 0dQl gRIR 14 QIAHE6R NIQG daRIes 919l d31 @6 798 AIngem!

(il) FIS10. I8 G168 JA1 @ AQ0IQ IVFIRT AIJIE 6Q1R 9% F9I1A @ 18 RAIFQ AGRY 63TQY A

A) (i) Q64 2166 9&" (ii) AN 2I6e
B) (i) aoy 216e 9e° (ii) 2asy 26e
C) (i) aQey a16s \9e° (i) ASY 26T
D) (i) 2164 266 ¥9&° (i) 2AAGY 2166

30) The classroom management technique in which a teacher publicly recognises and praise
students is known as

A) entry routine
B) seat signal
C) props
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D) do now

30) sg4nge afiaeel 068 6ALYR RE4 LR BIRAIRG ATAURSER FIRYE! FaE ¥e° geral 868 oIl R RSN

A) 9694 Qo
B) 2Iag A5§6
C) 2enqe (99)
D) @64ie @83
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) QIIQ ATQR QUQ V'€ QRAAN?

A) 4@
B) cugi
C) ad
D) cra

32) 2ia aIsisa 626016 aaae 21F ?

A) 8
B) er
C) 9°
D) 99

33) 32T 69INE — 6Q9IEe 99T @ g1 997

A) QeaIay
B) Qsaa6
C) @al

D) 214,

34) ‘Sana’ gna YAV 97 9IS |

A) 269
B) ea
C) gmd
D) 284<

35) 99Q QIYAC SRIFNRAE LR I6GTE FIAU 6RIRIN?
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A) 99G-goie
B) @aad-geya
C) Qos-68¢
D) a1g-qau

36) 9,947,980 —geq @ dRIQ QIR T QRIAN?

A) 68y
B) aay
C) gaay
D) ciney

37) ‘g’ 20Qd ge dR6R 684 AIQ QL0 ?

A) €
B) @I
C) ¢4
D) 9%,

38) ‘aie @’ FaI00 QEQ 22 62as ?

A) IR 629!

B) @il 2Iea *8el
C) Ui @Al
D) @age 629

39) ‘caanq HIIRI RIS’ QEQ 28 H9ad Al |

A) 99 2IgRasa 2T
B) 296 §906@ 999
C) 29 o8

D) eael @9

WtsApp/Call- 8596976190
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40) ‘2,88 FAUNGQ 0290 QU 69Q R ORI 47

A) QeQIQ
B) ao1e

C) @laye
D) Souqie

41) ‘adx’ saa FUAQICIdsaria 9 QI8 |

A) 7998
B) 9Qa4I?
C) 296e4a!
D) @89

42) G6¢)I8 FRIQ 620G 686 UARR JTUEQ GI0G 62187

A) 6q12>¢19

B) sqru>6q1@1
C) gerai>garde
D) so1a>9a

43) ‘rq1e’ 2960 ‘@0’ goid AdlnIReRl Iag QI |

A) fy&e

B) @asaiersl
C) ola@e

D) A@aige

44) 6dR AR UEQ AT, 67, FOR AR AFAER 61T ARFG 60 AER 66 IR, GIf @'E GRIAN?
A) Geasy

B) Qeam4

C) adqin

D) 2iqug,
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45) ‘qleara’ 98a AR I8 UL |

A) 99
B) dieg
C) quse
D) €19
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) What value of x satisfies the equation x - 3 = 8?

A) 4
B) 5
C)6
D) 11

46) ¢ 0602 AR X - 3 = 8 anIeasq A0R @I ?

A) 4
B) 5
C)6
D) 11

47) In an equilateral triangle AABC, D and E are the mid points of sides AB and AC respectively.
What is the ratio of the area of the smaller triangle AADE to the triangle AABC?

A) 1:2

B) 1:4

C)1:3

Dyz:d

47) 9@ aaeig dge AABC sa , D 9o E gaiqss Q14 AB wer AC a a8 891 AABC a86 ge 598 AADEe sgeaea 29ae
6R60 629 ?

A) 1:2
B) 1:4

6)13
D) 2:3

48) Which of the following number is the smallest number?

A) 1/12
B) 1/6
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C) V4
D) 1/3

48) G9Rge Tl AIQ 699 MYOF Q°SHYI 2A6C' ?

A) 1/12
B) 1/6
C) V4

D) 1/3

49) In a school there are 2,500 students. If 45% of them are girls, the number of boys is

A) 1375
B) 1350
C) 1250
D) 1100

49) e dovrasa 2,500 giegig! 288 | A& 6AAIRT au 45% QAR 224G, 6669 APRT T 6208

A) 1375
B) 1350
C) 1250
D) 1100

50) Which of the following is a solution of the equation 2x + 3y = 77

A) x=1, y=2
B) x=2, y=1
C) x=4, y=3
D) x=5, y=4

50) d9fge auIQ 606 6208 2X + 3y = 7a0ea8Q QI ?

A) x=1, y=2
B) x=2, y=1
C) x=4, y=3
D) x=5, y=4
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51) What is the number of acute angled triangles whose sides are consecutive even numbers and
perimeter is less than or equal to 60 cm?

A) 5
B) 6
C)7
D)8

51) @ 9geqien e ol 6066 629, QIR AIYYER 628 REITE Qg TS N ARQAIAI Yo 6aTQ *¢ FA AAR 6269 ?

A) 5
B) 6
C)7
D)8

52) If the sum of two numbers is 20 and their HCF and LCM are 1 and 91 respectively, then the
square of one of the numbers is

A) 16
B) 25
C) 36
D) 49

52) 2é 9af eretia aad 20 er saciesa aaig W aalg aaigea 1 er 91 2169, 6669 6aIEN eI 96 6267

A) 16
B) 25
C) 36
D) 49

53) What is the compound interest earned when a sum of ¥ 15,000 is invested for 2 years at a rate
of interest of 20%7? [Note: Compounding is done annually]

A) ¥ 3000
B) ¥ 4800
C) ¥ 5400
D) ¥ 6600
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53) 20% gu 2iesa 2 2d aiel T 15,000 dF6a1a 626m 0198 9 6966 629 ? [ 909! : QIR aise 9P FRUYIN2AN

A) Z 3000
B) % 4800
C) 5400
D) Z 6600

54) % 3,300 is divided among A, B and C in such a way that A gets 2/3rd of what B gets and B gets
1/2 of what C gets. What is the amount received by A?

A) % 300

B) ¥ 600

C)Z 900

D) % 1800

54) % 3,300 A, B 9o C criea 10d e196a 309 62108 62 @, Ba 2/3 eia aigara e B, C & 1/2 aig aigaid | 6669 @ 6060
Qs ARES ?

A) Z 300
B) Z 600
C)Z 900
D) Z 1800

55) Which of the following is a set with 5 elements?

A) The set of consonants in English Alphabet
B) The set of even prime numbers

C) The set of vowels in English Alphabet

D) The set of letters in the word 'ALOOF'

55) Sofige aug 6766 8 § QQIQIR 96 646 621RE ?

A) &aI91 2deIRIEa SRR 626
B) 99 671@q SMIYFRR 626
C) srale1 adeInieq 96a 626
D) ‘feieeq’ d86Q VR 626
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56) How many two digit numbers exist such that square of those numbers end with 77

A0
B) 1
C)3
D)4

56) 696015 Q@ 2re 38a eyl A28 A0 698 rHUIGFRa 96 960 689 94 ?

A)O
B) 1
C)3
D) 4

57) How many straight lines can be drawn using 15 points on a plane out of which 7 points are
collinear?

A) 105
B) 85
C) 84
D) 75

57) e anen ge6a 8ql 08 § 89 aug 9 § 89 18 Aan6adiea aed | 1@ 39959 eIR 98 6REEIT ARRERHIR AFIARAEGS ?

A) 105
B) 85
C) 84
D) 75

58) If (a-b) : (a+b) = 1:11, then what is the ratio of (5a+4b+35) : (5a-4b+7)7?

A) 1:5
B) 5:1
C) 1:1
D) 5:3

58) a@ (a-b) : (a+b) = 1:11 g4, 60sa (5a+4b+35) : (5a-4b+7)a agaie 6066 62@ 7
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A) 1:5
B) 5:1
C) 1:1
D) 5:3

59) If set A has 5 elements, then the maximum number of elements in a proper subset of the power
set of Ais

A) 32
B) 31
C) 30
D) 25

59) ad sac A 6a 5 ¢ agIQle 28, 6669 A @ TIGIA 696 @ AUYS AVEACER VYR TR QAR 629

A) 32
B) 31
C) 30
D) 25

60) A two digit number exceeds the sum of the squares of its digits by 19. The same number exceeds
twice the product of the digits by 44. Which is the number?

A) 72
B) 62
G)22
D) 12

60) e eRae Sda el 12Ia xR 9dq A8 0Ig 19 28 | 698 AR TP AFYFAR AVIR LRYIQ ¥y F¢l 2@ | 6Q@ eI
6@60 7

A) 72
B) 62
C) 22
D) 12
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) Which of the following options is an example of Planetary winds?

A) Chinook

B) Loo

C) Trade Wind
D) Mistral

61) fofice §egPe FIQ 670G goRF0 I9RQ ARI2RE ?

A) QIR
B) I
C) Qe A
D) e dog

62) Which among the following options is approximately near to the exact shape of the Earth as per
the investigations made by scientists?

A) Cylindrical

B) Cuboid

C) Oblate Spheroid
D) Prismoid

62) sdrifas Qal @al AIadel 2QANe QAN FQATe eegée AuQ 6a4E 9891a 20K AIYER FRE0Q 266 ?

A) ARIRIQ

B) ageag agse
C) @Ae 61N
D) §6e Qqsl

63) Part IV A of our Constitution is related to ?

A) Citizenship
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B) Fundamental Rights
C) Fundamental Duties
D) Directive Principles Of State Policy

63) aive afduiea aia IV A ado @60 |

A) f1988Q
B) 6ql@a@ 2RI

C) 6¢1IAe K81QY
D) igY #16a Gsdaaiel

64) The term Veda is derived from the Sanskrit word "Vid" that literally means

A) Knowledge
B) Strength
C) Meditation
D) Perception

64) 60Q d8 A'YS IR "IQ" Q AYR 62RE AR 2lel 6208

A) gie
B) ¢&
C) aig
D) aie4l

65) The cinchona tree grows in what kind of vegetation?

A) Tropical Evergreen
B) Tropical Deciduous
C) Mangroove

D) Montane

65) dRsIRl 62 696 JRIa JREREIER QPaN ?

A) 98059910 0ade
B) @3adee1a agsel
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C) fuegs
D) ase1a

66) Which of the following options is referred as "Moho" in the structure of the Earth?

A) The boundary between the crust and mantle of the earth
B) The outermost solid mantle layer of the earth

C) The interior layer of the earth made up of very heavy materials like nickel and iron
D) The layer right below the mantle of the earth

66) gleia 60a6a GRG0 TRRYER FRIQ 694E “6RIR” RIAN ?

A) 98918 ORI 6617 FIIER el

B) 98912 Q124 /0% 49 99

C) 98910 6ieq 3a fean 19 2l 98 AIIS QI AIAgIER F06
D) 98912 6419 e6@ &9 99

67) Which state was the first to establish the Panchayati Raj in India after Independence

A) Rajasthan

B) Andhra Pradesh
C) Uttar Pradesh
D) Maharashtra

67) A1eel 968 694 AIRY AUIQSER JaET PRIATAIS o @GRl ?

A) RS
B) 2IRgsa4

C) c@egses
D) agIug,

68) Which case is related to the theory of basic structure of Constitution as propounded by the
Supreme Court?

A) Gopalan Vs State of Madras

B) Kesavanada Bharati Case Vs State of Kerala
C) Golaknath Vs State of Punjab
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D) SR Bomani Vs Union of India

68) gdrsrics QI geide lIea 6N c0na AaIe 986 679 AITRIR AN 08F ?

A) 66lldIRe QI QLI Qe

B) EQUQIPR YINGT 699 IF 6@ QU
C) gcllm@@lel @I d&e QY

D) QIR 6QIANF PRIC 65% AARIRQ

69) Which of the following countries has eleven standard time zones?

A) Saudi Arabia
B) India

C) Japan

D) Russia

B9) Fqfiae 604989 FIQ 6REE6R IRIVE FIRIF AT 6RIR, O8F ?

A) AR e
B) QoG
C) slaie

D) edal

70) Who among the following had given the slogan 'Do or Die' during ' the All India Congress
Committee in Bombay and ratified the 'Quit India Movement'?

A) Jayaprakash Narayan
B) Jawaharlal Nehru
C) Subash Chandra Bose
D) Mahatma Gandhi

70) Gofde aug &9 96A6a ‘AR RéY eregd @FIF ARNER ‘GRSl AR 6QCIF 6ORLER I ‘RING 8187 TISAIRAG AEAIAR GALEH ?

A) @ddald KIRldel

B) aeigania 62629
C) 9919 99 6918

D) agiqy st
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71) In the early Vedic period, the king collected taxes from his subjects which was due to him for the
protection granted to his subjects. This tax was known as

A) Dhar

B) Manu

C) Bali

D) Khajna

71) 91986 6309 69, QI FIF IRIFINEO0IQ SUIg QIR KA LIT FARER 64 GIF JRIAING oI QI
@AM | SUIFT YT QUFER REIGSI AR

A) uQ
B) ag
C) aim
D) a1l

72) The book "Small is Beautiful", written by Schumacher is about?

A) A beautiful mind

B) Honey bees

C) Resource conservation
D) Nuclear particles

72) gaieas QIal Age “ga e Fa5ga” ¥E 389 QU6a ZRIGE ?

A) @ eQ AR
B) A2418

C) 92 Tage
D) A& @&

73) The spirit of the makers of the Constitution of India is reflected in

A) The Preamble

B) The Fundamental Rights

C) The Fundamental Duties

D) The Directive Principles of State Policy
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73) 2I6Q Iaea AR SAGIAINS 2R 9OTRE 62108

A) gaiesl 6Q
B) caide zusia 6Q
C) cline 20QY 6Q

D) aigu 150 Gesasial 69

74) The Tropic of Cancer lies at approximately

A) 23.5 degrees North of the Equator
B) 66.5 degrees North of the Equator
C) 23.5 degrees South of the Equator
D) 66.5 degrees South of the Equator

74) @66 QI8 gI9 q0l6a e@alg

A) gericadia 99.8 891 aR6R

B) gausasia 99.8 Gg1 aRasa

C) 99:6aIR 9.8 Gg1 @66
D) 99u6asia £9.8 &gt @886

75) Poona Pact was signed between among which of the following leaders?

A) Gandhiji and Subash Chandra Bose
B) Ambedkar and M.M.Malaviya

C) Gandhiji and Ambedkar

D) Gandhiji and Lord Irwin

75) 39ade rIQ 694 690! QRREE rkIca 9ol 98 Ade 62l ?

A) CIRG1 96° YIT 9F 6QIY

B) 2162998 Ie* 4699 AIRRGI
C) CIRg1 e 2620aa

D) 61891 9% a6 aale
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which reaction produces reddish brown precipitate and becomes soluble in excess of NHsOH?

A) FeClz2 + 2NHsOH — Fe(OH)2 + 2NH4Cl

B) Zn(NO3)2 + NH4OH — Zn(OH)2 + NHaNO3
C) FeCls + 3NHsOH — Fe(OH)s + 3NH4CI

D) CuSO4 + NH4OH — Cu(OH)2 + NH4SO4

76) 67a goanl AR eera AQIe eara 2980 98 @sa ¥e* NHaOHg 2iye eotee 997

A) FeClz + 2NH4OH — Fe(OH)2 + 2NH4CI

B) Zn(NO3)2 + NHsOH — Zn(OH)2 + NHaNO3
C) FeCls + 3NHsOH — Fe(OH)3 + 3NH4CI

D) CuSO4 + NH4OH — Cu(OH)2 + NH4SOs4

77) What type of semiconductor can be obtained from solids showing metal excess defect?
A) p type

B) n and p type

C) no semiconductor property possible

D) n type

77) 2199 264 96 cedadel AR 694 ge1ea 6afiagea ARG ?

A) p geiea
B) n << p gelee
C) s@I8d safieaqa g6 aae Q6w

D) n gaie

78) One Kilo-Watt-hours is equals to how many Joules?

A) 180000 J
B) 3600000 J
C) 540000000 J



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

D) 7200000000 J

78) @ @ENIEIQ A4 660 g ATE QIR ?

A) 180000 J

B) 3600000 J

C) 540000000 J
D) 7200000000 J

79) A central pathway that provides a unifying point for many metabolites, which feed in at various
points is called )

A) HMP pathway
B) EMP pathway
C) TCA cycle

D) Calvin cycle

79) 4= 62910 92 QILIF UEKR 6FISIEIIANE VIS INFE §9 JAIF |69, Il §6g Oresa Fe g4 0leIg JUU0ITUTad FRIAN |

A) doe €2
B) Qe aa
C) Ba@ 6]
D) QIRER, 01

80) When stamens are attached to the petals they are termed as

A) polyadelphous
B) monoadelphous
C) epiphyllous

D) epipetalous

80) 60666967 TRISEREQYER AYE ADE PG ©4, 6AFIRT 121 QLA

A saReiceaaq
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B) 6qieRiziconaq
C) wddaq

D) Niala(ylate]

81) Which among the following can be a possible product when NH3 reacts with excess Cl2?

A) NH4CI
B) N2
C) NCls
D) NHCI

81) NHs aoyae Clz afe gédal @aIs9er AaAEe FIQ 6906 I8 AAI9Y Qe 621Q0Iea ?

A) NH4CI
B) N2
C) NCls
D) NHC»

82) Which among the following statement is CORRECT regarding tetrahedral or octahedral voids in
cubic close packing structures?

A) Number of tetrahedral voids is equal to six times the number of particles in a ccp lattice
structure

B) Number of octahedral voids is equal to the number of particles in a ccp lattice structure

C) Number of octahedral voids is twice the number of particles in a ccp lattice structure

D)

Number of tetrahedral voids is four times the number of particles in a ccp lattice structure

82) q499 6qIe QI TAVRIER 66EIRGIM A1 AFRLIN VIS INVER FINYE QGIYESR FQ 67aT A0SR 26T ?

A) 69€I62gIN A Pl Y@ AT AISIR S0RER @d@ TEIOIQ 22 g4 A2 AANR
B) Zgim 4@ el 9 ddd QeI d0R6e KR Pl 986 aalg
C) zeigin 2@ el @ AT QISR 0R6a *ERIQ THIOIQ 2agE

D) 6c6ggim ee @il M A9d AIFIRG F0F6a @8R IO AR gl

83) Calculate the momentum of a toy car weighing 0.4 kg and moving with a velocity of 2 m/s?

A) 0.8 kg m/s
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B) 0.2 kg m/s
C) 0.3 kg m/s
D) 1 kg m/s

83) 2 m/s 96T LIRCJQI 0.4 Al 3R IR 6HRRI RIQ Q A°6AC 6REE 621 ?

A) 0.8 kg m/s
B) 0.2 kg m/s
C) 0.3 kg m/s
D) 1 kg m/s

84) Small channels that directly connect the cytoplasm of neighboring plant cells to each other,
establishing living bridges between cells is called

A) Plasmosome

B) Mesosomes

C) Plasmodesmata

D) Ribosomes

84) cale alug Qe dd 26Q 6919gFTR ARESIYFNG AR TEAIT K69, CRTYFR IR 196 qIF TUAR Feq Gl
QI

A) QSIEEIESIE)
B) 676QI6%I4)
C) 9leisaIeqis
D) SIR6RIESIT

85) Which of the following cell organelle is known as cellular housekeepers?

A) Ribosomes
B) Centrioles
C) Nucleus

D) Lysosomes

85) Fofge 6am ACIEAR FUQ 6RHE 6APAIR, JLOF! ALER FEIGEI ?

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

Download Tech Of World App ~ WtsApp/Call- 8596976190

A) SRR
B) 6r8Bend

C) f4aea

D) AIRcaieale

86) Which of the following is an example of Sub-aerial stem modifications?

A) Ginger
B) Onion
C) Oxalis
D) Duranta

86) Sofide ki 6906 A9-IR2IR 637 0HRERA IR AQITRS ?

A) 29!
B) due
C) eifa
D) gyoai

87) What will be the total pressure after mixing of the container consisting of two bulbs of equal

volumes separated by a stop cork and containing two gases at initial pressures (before mixing) of
0.3 and 0.5 atm?

A) 0.4 atm
B) 0.8 atm
C) 0.2 atm
D) 1.0 atm

87) ereeraa fige asa AP Q0 @°4 629, 29 AR AFIe AGeIda IR 20 @4 QIal gae I gede qase (fge geg) 0.3 ver
0.5 998 Qgrarea a8 NIA dIQd @8e ?

A) 0.4 atm
B) 0.8 atm
C) 0.2 atm
D) 1.0 atm
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88) When forces acting on a body from the opposite direction do not change the state of rest or of
motion of an object, such forces are called as

A) balanced forces

B) unbalanced forces

C) mass

D) velocity

88) 6060696@ IR 9Z AUCA UG F0Q FIY QIS IR TLA AT 2 BE)l 98] ORI QIT, 698 RY
@6 QRIAN ?

A) Qghe of
B) aag@ec ae

C) egQ
D) a@saql

89) How may types of Vitamin are included in Vitamin B?

A) 2
B) 4
C)6
D)8

89) fcifie G6a 6REC gIa SSIFe 22Ls FAARAER ?

A) ¢
B) ¥
C)?
D)r

90) Which of the following statements is CORRECT regarding Smooth endoplasmic reticulum?

A) It consists mainly of cisternae

B) It bears ribosomes on its cytoplasmic surface
C) It takes part in the synthesis of protein

D) It takes part in the synthesis of lipids
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90) ga wBaIYLRIFR QTFAN FUACQ PRI F1IQ 629G A0S 2T ?

A) @I gsie Jagig sea 0@

B) #9Q ARCCIYPITR GI6R 121 QUIREIIERIFI RS F6Q
C) va 69I0Ra A6QAACH 2rél G128 REQ

D) Y2 AdQe d6gdAea 2rel 92dl @6Q
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